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The current crisis in coal sector is an opportunity for the country to cut coal ...
dependence and push renewable energy for the long term. Discuss (200 Words)

i % i ?zw/ Lo / Crss 4 sk Al om
O / (L éow(‘; ek ok //uf Tt fm(/ﬂy
\SVF:iI{eea::ly?hoigg: gfﬁ)} ¢ ‘W’ "/ %{//’Zxﬁzj o{ ézj /70;}?/ ./ ﬂ’{ %yw (Please don't

write anything
in this space) /
5;7,(’,57 %7 o, f;ﬁz » [é‘ ,/ a/;m;é/ Cy/ﬁ w

a{ in this space)

| 7(/4 % wﬂé/%/ P /%éZU ff7W
al G e 4/% o GLAL Loty dr kb
[ oo bty 5 G ol oy
»%* jZ‘,g,/J 9'77537’/;~L ja) &{t aﬂ):) A&Ca/m % M

Monks of o o A" st

By Mo /Zam § @fﬁe N of chited o7
b S @ S A geuds b odia
At P foshr. - Lo éé@/ sk of mole
) W Ao %Mcf)w f iy Gt oo v G

Sff/ é’ CLW@L [vv

Sturd alone %@f/zf]) S /mf lr s el
Sl e Ad

Q;VQ & ;%1.@4] %aml gfé»?wfs ol & U



SHANKAR IAS ACADEMY

UPSC

%/L/’ /é’ 7%&&4{-& ij@ e [6:/1 T on Ao
CéMl& o T o /quw ff&/@/ﬂf’mﬁ i 2&/;’1/} /é/?«

(Please don't (Please don't
write anything write anything

in this space) é%%(b CLV%{L Jj %&f[b/} ,J/] ,M;u;j ,/Z&L ¥ } in this space)
%’ﬂucw f@é}jj ?,éé/ MCgae AN /é/ /fgwe 51,(_,/5
(it ‘%} owd b 406w b2o3a)

Wﬂs ~ Mk 4 %Cé‘zzéw{ e b aun
%64 LUZU/& a o /Jiwjfaiu[ Z{f /Z%zLu: %’ﬁ%

fé szyl&, QZ’ ,{,‘{‘ %um »)e M'M/ 4

Gl Shol)  Choy A chll, o
/éo Jutows %“c %u 25770 4770




